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EATRP Q.P. Code : 730502
(3 Hours) Total Marks: - 80

N.B: (1) Question no 1 is compulsory.
(2) Attempt any three out of remaining five questions.
(3) Figures to the right indicate full marks.
(4) Hlustrate your answers with sketches wherever necessary.

Q.1 Solve any four from following six

b Enlist the purpose of charging system of vehicle. 05

¢ Explain the working of power lock system. Ve 05

d What is the need of having seat belt in automobife? ™ E 05

¢ Chalk out the difference between transmis I ﬂ__-\::{-'- : 05

f How the vehicular performance will peafected b 05

Q2 a Itisbeing found that tie rods haye “;&‘”saﬁ that problem could be 06
due to air in the system while the person: ‘that problem could be due to

s contact fvith electrical contact in the sensor.
er Containing piezoelectric element generates analogue voltage
clali ecr@';uf deceleration forces.

iv. Direetion of iaput force is also sensed by an accelerometer.

b mﬁebﬁkwiﬂlmopﬁmmﬁﬂmjwﬁﬁynmchohmfmm 06

Relay with a timer employed in rear window defroster generally allows :
i. Defopger set to shut off after fixed length of time.
mﬁ%’fngger stops functioning after rear window is cleared.

iii. Defogger will work independent of ignition switch.
iv. None of above

d Enlist the difference between manual and power steering, 02
TURN OVER
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Q3 a Ewmnmmmmmmmmmmmm 10
diagnose it? \

b E:q:lainmdatﬁlthem@mnmdmmgufnﬂpump 10
N/
Q4 a List the common issues related to EGR and what _ u%lfi
to diagnosis it? comc:%




